Frackece Exam 3
O -2, 7, ® Zs,
6] = 1Zy) V2,1 125} = 4-2-5 =[40)

G s not adc,!«‘c. By o Thom fiom Ch-8, G, & @ @G, 11 cyelic iFf
304( (Gil, la;1) =1 Vigj. But ged(4,2)=2 ), w0 7,0 2, ® Ze connot
be c\dclic..

Q) G-2, @7 2L © 1L o1,

How  many e lts of order AT Fach of the FPackrs Ly, Ly, + 4, hes an element

of order Q. So  theee ore ?;"‘l ‘=® elements of order 2.

- = e o — e

[_”—-uj ove (4,9,0,0,2),(5,2,5,5,6), (5,0, 7, 9,0), (4,2,09, 3.-0),
(4,8, T,5,58), (6,3,7,58,5), and (4,2, T,5,5).]

Docs &‘} Ir\avf Omj ef(_man']'s o'F oralcr “‘f? YES, ('6, -O—, T, -5, I) Lms

ordec Lo (11, 2,1, 1) = 1Y,
@ -I‘ic G{H are smupsl 'P 15 & L\amomor‘phism '[‘h:m G +o H IF 'P'- G — H
15 & mep 5.4, \/3,,;?}2 € G, we hove :(3131)': 'Fle)‘ngz)

@ State  +he First I-_.marPl-\'rsm Theorem for 8rouf>$.
-E’I_f_"fl Lot CF')'-G'“) H be « arwr Pnomamor’;hﬁm. Then G/Kcr(ﬁb) = cb(G)

@ Let .F Dl.f —3 Z"f be defined ba f(x) = E § if % is o rotatien
2

|F X it net a rotation

Prove Hat F s a amuf; homamorfiqifm,]w,-'r het  an isomorPJ’\Esm.

Efﬂ"_f Led XY € DL’, ITf X +y are beth rotakiane or bath reflecHons, then xd it o

l"o‘f’ﬁhon ond wt hove -F(Xj) = 5 =g§ + _:6 = -F(x) + ‘F(j) . IF ane n-F x +.3
. 2+ 1
i o rotation, say X, and Yy is - reflection, Thea ¥y is a reflection and

FOq =T« 5+ 3 = PO+ £y, Thus, £ is a homomorphism.
Sirce Tem (F) = $8,23 4 Zy, £ is not ontv, and Fhus F is rot an isomorphim.
(Ameh‘vclJ, fRo) = f(Ray) =T bot R, #Ray = £ is not igccﬁve.) a

@ Wik £ a5 (n BS  find {a) Tem (£) and (b) Ker (£)

() Tmerr = £5,73 = [<3

(1y Kee (f) = {xeo6l tn=373 = L Rot Rau, Rz, Rypo 3
- E5sl



